
Time: 10 Minutes Paper G. Science 7th Total Marks: 10

3rd Month, 3rd Week, 5th Day Syllabus: Unit # 6:  Valency

Q.No.1 Encircle the correct answer from the following choices. (1×6=6)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
1. How many electrons are present in the valence shell of hydrogen atom?

;;;;[[[[++++ggggzzzzXXXXZZZZVVVVÆÆÆÆzzzz&&&&ÓÓÓÓ4444øøøø
GGGG
EEEE

ŸŸŸŸ~~~~ÄÄÄÄZZZZ¼¼¼¼zzzz4444,,,,ƒƒƒƒDDDD÷÷÷÷????

(a) One Zq- (b) Two Šz (c) Three & (d) Four eg

2. The valency of calcium ion is. yyyyMMMMííííÅÅÅÅzzzz&&&&ÓÓÓÓ4444ggggöööö GGGG
EEEE

ìììì::::

(a) +1 (b) +2 (c) +3 (d) +4

3. The chemical formula of ammonia is: ZZZZññññ****»»»»6666ððððÃÃÃÃggggññññÑÑÑÑìììì::::

(a) (b) (c) (d)

4. Which of the following is a Valency of carbon? ZZZZyyyy~~~~ÐÐÐÐ»»»»gggg0000ÅÅÅÅzzzz&&&&ÓÓÓÓ4444ggggöööö GGGG
EEEE

ÃÃÃÃyyyyÏÏÏÏìììì????

(a) 2 (b) 3 (c) 4 (d) 5

5. The formula of methane is:
$$$$4444----££££4444

èèèè
GGGG
GGGG

GGGGEEEE»»»»ÃÃÃÃggggññññÑÑÑÑìììì::::

(a) (b) (c) (d)

6. How many hydrogen atoms are present in water molecule?

0000****ããããÆÆÆÆââââÅÅÅÅ5555½½½½3333ðððð GGGGGGGGwwww~~~~ÄÄÄÄ;;;;[[[[++++ggggzzzzXXXXZZZZÅÅÅÅññññ����ŠŠŠŠƒƒƒƒDDDD÷÷÷÷????

(a) Two Šz (b) Three & (c) Four eg (d) Five 0*õ

Q.No.2. Write the short answers. (2 <<<< 2 = 4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

(i)  Define valency. z&Ó4gö G
E

Å°p™,X

(ii) How can atoms get stable electronic configuration? 

ZÅ
_545

ÿ

H
GEZ¼z7-±3¨¾æ EEYcùqÝ™D÷?

__________________________________________________________________
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